Physics 201
Problem Set (1)

Problem (1)

In each part, determine whether the equation is linear in x{, x3, and x3.

(@) xq 4 Sxz— 1/27:3: 1
(b) X1+ 3x2+x1x3=2

(c) X1 = =Tx2+ 3x3
(d) xl—2+x2+8)c3=5
(e) x13,5—2xz+X3 =4

() mX| =— ¢2x2 + %X3 =716

Problem (2)

Solve the system.

X, — x3= 0
X, — 3x; = —1
—Xj + 3.1’2 — |

Problem (3)

Solve the system.

2ps — X —2xg= 2

Xy +2x5 — Ixy=-—1



Problem (4)

Solve the system.
x—2y+3z= 9
o i = —4
2x = 3y 49z = 11

Problem (5)

Determine whether the linear systems on problems 2, 3 and 4 are
consistent or inconsistent.

Problem (6)

Solve the system

2r + y =1
r + 2y = -1
r — y = 2
Problem (7)
Solve the system
T 4+ y + z = 1,
T + 2y + 2z = 1,
r — y + z = 3.



